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HERA 0 mM5 15 MET 946.00 @ | 188.12 . m | 18461 H./m
#ExRB 15 M&#BZ 50 MET 1,45420 1 || 15424 0. m | 150.73 0./ m
#ERC 50 Mm% 2 200 MET 201300 || 14306 F./m | 13955 . m | +351 H./m
HERD 200 M#%#BZ 800 MET 7,70000 @ | 11463 M. m | 111.12 0/ m
He&RE 800 MZ B2 55HE 9,900.00 /1 || 111.88 ./m | 108.37 ./ m
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EHEEMEE = ( 51,730 H- k2 x 09503 ) +( 64640 F k> x 0.0546 )
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= 52690 A b (10 AXRFBEDIHHEEERA)
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<2021 % 10 AAY ABECRMD | <2021 4 0 AAh AB S REEy | ST R
E RIS 52,690 ./ k> 48840 M.+ 66,310 ./ k>
LNGE B {Hi& 51,730 M./ k> 47,730 0./ k>
A LWES STt 64,640 M./ k> 63,740 0.2
[REMEIEESHEE = 66,310 — 52,690 M
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BHipe = HEBEGHES + BAHESFHARLE
BHAHLSMABLE = -0084%"Y x 13600 FH.-100MH x (1+HEHRRE)
BT B 4E
=  -1257 A  OUMBIERE ST OmEIY L)
HAEBHMGHE BfiHEHREE 2021 ££ 10 B QBT ®BIA)
HERA 200.69 A/m 188.12 /. m
HERB 166.81 MH/m 15424 @,/ m
HERC 155.63 ©/m A1257H/m 143.06 ./ m
HERD 127.20 H/m 11463 . m
HERE 124.45 ®H/m 111.88 A/ m
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